Renewal Parts Data RP01414001E  Efrective January 2011

Panelboard Renewal
Parts Supplement

[

il

[
.

Il

e I E —

il = e

£ - o

= AT

| [ = =
L. _ | ™ !

S===== : l _

=== N e

=————} ===

=S==

Contents®

Description Page
PRL 1a and 2a Neutral Assemblies. . . ... ... ... 2-3
PRL 1a and 2a Ground Assemblies. . . . ... .. 3
PRL 1a and 2a Deadfront COVErs . ... .. .. . . 4
Panelboard Trim LOCKS . . . . . .. 5
PRL 1a and 2a Service Entrance Kits . . ... ... . 5
PRL 3a Ground Assemblies. . . .. ... .. 6
PRL 3a Service Entrance Kits . . . . ... 6
PRL 3a Parts . . . 7
PRL 4 Blank Covers. . .. ... 8-9
Panelboard Fastrim Clamps and Screw-On Hardware Kits. .. ....... .. ... . ... ... ... . ... ........ 9
PRL A Panels . . ... 10
EZ™ Box and EZ™ Trim Renewal Parts . . ... ... .. . . . . . 10-11
PoW-R-Kit . o 12
Satellite Locations and TeITItOries . . . . . . . ... 13
NS . . 14-15

E.T-N

Powering Business Worldwide

@ For additional renewal parts please consult guide RP38F.01.TE.



Renewal Parts Data RP01414001E

Effective January 2011

PRL 1a and 2a Neutral Assemblies

Table 1. 100-Ampere Neutral Assemblies®

Panelboard Renewal Parts Supplement

Silver-Plated
) Copper
Panel Main Bus Neutral Lug Drawing Panel Lug Wire Size Connector
Ampere Rating Rating Type Number® Options® Range Quantity Item Number
100 100% Mechanical 1C96646 STD #14—1/0 1 (03
SFL/TFL #14—1/0 2 (07
0vS #6—300 kemil 1 G111
200% Mechanical 1096649 STD #6—300 kemil 1 (03
SFL/TFL #6—300 kemil 2 (07
ovS 4/0—500 kemil 1 G
@ The assemblies shown on this page are for panelboards that mount in 30.00- to 90.00-inch-high (762.0-2286.0 mm) enclosures only.
® Order the basic drawing number, along with the equivalent G—number that is needed.
@® STD = Standard lugs
SFL/TFL = Sub-feed and through-feed lugs
OVS = Oversize lugs
Table 2. 225-Ampere Neutral Assemblies®
Silver-Plated
. Copper
Panel Main Bus Neutral Lug Drawing Panel Lug Wire Size Connector
Ampere Rating Rating Type Number® Options@ Range Quantity Item Number
225 100% Mechanical 1096649 STD #6—300 kemil 1 G03
SFL/TFL #6—300 kemil 2 G07
ovS 4/0—500 kemil 1 G11
200% Mechanical 1€96652 STD 4/0—500 kemil 2 G03
SFL/TFL N/A N/A G07
0vS 3/0—750 kemil 2 G11

® The assemblies shown on this page are for panelboards that mount in 30.00- to 90.00-inch-high (762.0-2286.0 mm) enclosures.

® QOrder the basic drawing number, along with the equivalent G—number that is needed.

@ STD = Standard lugs
SFL/TFL = Sub-feed and through-feed lugs
0VS = Oversize lugs

2 EATON CORPORATION www.eaton.com




Panelboard Renewal Parts Supplement Renewal Parts Data RP01414001E

Effective January 2011

Table 3. 400-Ampere Neutral Assemblies®
Silver-Plated

Copper
Panel Main Bus Neutral Lug Drawing Panel Lug Wire Size Coggector
Ampere Rating Rating Type Number® Options® Range Quantity Item Number
400 100% Mechanical 196652 STD 4/0—500 kemil 2 (03
SFL/TFL N/A N/A G07
0vS 3/0—750 kemil 2 G11
400 200% Mechanical 4201332 STD 3/0—750 kemil 2 G07
SFL/TFL 3/0—750 kemil 4 G11

The assemblies shown on this page are for panelboards that mount in 30.00- to 90.00-inch-high (762.0-2286.0 mm) enclosures.

® Order the basic drawing number, along with the equivalent G—number that is needed.

STD = Standard lugs
SFL/TFL = Sub-feed and through-feed lugs
0VS = Oversize lugs

PRL 1a and 2a Ground Assemblies

Table 4. Standard Ground

. Enclosure
Drawing Height in
Number® Inches (mm) Bar Material Item Number

5158C05 24.00 (609.6) Aluminum/Copper | GO1

36.00(914.4) Aluminum/Copper | G02
48.00 (1219.2)
60.00 (1524.0)
72.00(1828.8)
90.00 (2286.0)

@ Order the basic drawing number, along with the equivalent G—number that is needed (example: 5158C05G01).

5158C05G01

5168C05G02

Table 5. Isolated Ground

i Enclosure
Drawing Height in
Number® Inches (mm) Bar Material Item Number

2C11296 24.00 (609.6) Aluminum/Copper | GO1

36.00(914.4) Aluminum/Copper | G02
48.00(1219.2)
60.00 (1524.0)
72.00(1828.8)
90.00 (2286.0)

® QOrder the basic drawing number, along with the equivalent G—number that is needed (example: 2C11296G02).

EATON CORPORATION www.eaton.com 3




Renewal Parts Data RP01414001E

Effective January 2011

PRL 1a and 2a Deadfront Covers

Note: Does not apply to PRL 4 sub-chassis.

Table 6. Assembly

Panelboard Renewal Parts Supplement

Drawing
Number® Standard Enclosure Height in Inches (mm)
1096638 24.00 (609.6) | 36.00(914.4) [ 4200(10668)  [48.00(12192) | 6000(15240) | 7200(18288) | 90.00(2286.0)
Item Number
Go1 | G02 | Go7 | Go3 | Go4 s | Gos

® Order the basic drawing number, along with the equivalent G-number that is needed (example: 1C96638G01). See photo below.

Table 7. Vertically Mounted Devices

Mounting Arrangement

Device/Frame

Drawing Number®

Mounting Position

Item Number

Vertical 100 Ampere MLO, SFL, TFL, or 4180B03 Top HO1
F-Frame (100 Ampere Maximum) Bottom HO1
225 Ampere MLO, SFL, TFL, or 4180B61 Top HO1
F-Frame (225 Ampere Maximum) Bottom HO1
400 Ampere MLO, SFL, TFL, or 4180B04 Top HO1
J-Frame Bottom H02
400 Ampere MLO, TFL, or 4180B05 Top HO1
K-Frame Bottom H02

Blank Covers in Inches (mm) 1.0 (25.4) 4180B08 N/A HO1
2.00(50.8) N/A H02
3.00(76.2) N/A HO3
4.00(101.6) N/A HO4
5.00(127.0) N/A HO5
6.00 (152.4) N/A HO6
7.00(177.8) N/A HO7
8.00(203.2) N/A HO8
9.00 (228.6) N/A H09
10.00 (254.0) N/A H10
11.00 (279.4) N/A H11
12.00 (304.8) N/A H12
13.00(330.2) N/A H13
14.00 (355.6) N/A H14
15.00 (381.0) N/A H15
16.00 (406.4) N/A H16

@ Order the basic drawing number, along with the equivalent H-number that is needed (example: 4180B03HO01).

1C96638G01

4180B08H0O3

4 EATON CORPORATION www.eaton.com

4180B03HO1



Panelboard Renewal Parts Supplement Renewal Parts Data RP01414001E

Effective January 2011

Panelboard Trim Locks
Panelboard trims use different trim locks; see pictures below for styles and part numbers.

Table 8. Panelboard Trim Locks

Description Catalog Number
For use on left-handed door. (Hinged on left side.) K80522
For use on right-handed door. (Hinged on right side.) 8450C62H39
T-Handle lock, at one time used on all trims over 48.00 inches (1219.2 mm) in height. Also used on outdoor NEMA® 12/3R trims. 0080429
Used on PRL 4 lighting and power panels as standard. 1A32258H03
Used on PRL 1, 2, 3, 1a, 2a, and 3a lighting panels as standard. WEM-2 key. 5155C81G01

K80522 8450C62H39 0080429 1A32258H03 5155C81G01

PRL 1a and 2a Service Entrance Kits

Table 9. PRL 1a and 2a Service Entrance Kits

Tin-Plated Aluminum Silver-Plated Copper

Drawing Number® Panel Ampere Rating Item Number

Mechanical Main Lugs or Main Breakers

4180B62 100-225 GO1 G03

4180B62 400 G05 G07

Compression (Crimp) Main Lugs

4180B62 100-225 G09 G

4180B62 400 G13 G15

Copper Main Lugs

4180862 100-225 N/A G19

4180B62 400 N/A G23

® Qrder the basic drawing number, along with the equivalent G—number that is needed (example: 4180B62G03).

4180B62G01

EATON CORPORATION www.eaton.com 5



Renewal Parts Data RP01414001E Panelboard Renewal Parts Supplement

Effective January 2011

PRL 3a Ground Assemblies

Table 10. PRL 3a Ground Assemblies

Standard Isolated
Material Catalog Number
Aluminum/Copper 5158C05G02 2011296G02

5158C05G02

PRL 3a Service Entrance Kits

Table 11. PRL 3a Service Entrance Kits

Tin-Plated Aluminum Silver-Plated Copper
Style Number® Panel Ampere Rating Item Number
Mechanical Main Lugs or Main Breakers
5078A98 100 (01 (03
250-600 G13 G15

When ordering, use complete style number (example: 100 Ampere Tin-Plated Aluminum 5078A98G01).

5078A98G01

6 EATON CORPORATION www.eaton.com




Panelboard Renewal Parts Supplement Renewal Parts Data RP01414001E

Effective January 2011

PRL 3a Parts
Table 12. 20"- and 28"-Wide

Cover Fills This Height Space Width Part Number
1X Blank Cover 13/8" 13" 4176B72H01
2X Blank Cover 23/4" 13" 4176B72H02
3X Blank Cover 41/8" 13" 4176B72H03
4X Blank Cover 51/2" 13" 4176B72H04
5X Blank Cover 67/8" 13" 4176B72H05
6X Blank Cover 81/4" 13" 4176B72H06
7X Blank Cover 95/8" 13" 4176B72H07
8X Blank Cover 1" 13" 4176B72H08
9X Blank Cover 12 3/8" 13" 4176B72H09
10X Blank Cover 13 3/4" 13" 4176B72H10
11X Blank Cover 151/8" 13" 4176B72H11
12X Blank Cover 16 1/2" 13" 4176B72H12

Connector Kit Description Additional Information Max Amps Part Number
6-Pole BAB Connector Kit Three-Phase 100 Amp KPRL3ABAQG
6-Pole BAB Connector Kit Single-Phase 100 Amp KPRL3ABAODG-1
12-Pole BAB Connector Kit Three-Phase 100 Amp KPRL3ABA12
12-Pole BAB Connector Kit Single-Phase 100 Amp KPRL3ABA12-1
18-Pole BAB Connector Kit Three-Phase 100 Amp KPRL3ABA18
18-Pole BAB Connector Kit Single-Phase 100 Amp KPRL3ABA18-1
24-Pole BAB Connector Kit Three-Phase 100 Amp KPRL3ABA24
24-Pole BAB Connector Kit Single-Phase 100 Amp KPRL3ABA24-1
6-Pole GHB Connector Kit Three-Phase 100 Amp KPRL3AGB06
6-Pole GHB Connector Kit Single-Phase 100 Amp KPRL3AGBOG-1
12-Pole GHB Connector Kit Three-Phase 100 Amp KPRL3AGB12
12-Pole GHB Connector Kit Single-Phase 100 Amp KPRL3AGB12-1
18-Pole GHB Connector Kit Three-Phase 100 Amp KPRL3AGB18
18-Pole GHB Connector Kit Single-Phase 100 Amp KPRL3AGB18-1
24-Pole GHB Connector Kit Three-Phase 100 Amp KPRL3AGB24
24-Pole GHB Connector Kit Single-Phase 100 Amp KPRL3AGB24-1
2-Pole ED Connector Kit Single-Breaker Mounting 225 Amp KPRL3AED2
3-Pole ED Connector Kit 225 Amp KPRL3AED3
1-Pole FD Connector Kit Twin-Breaker Mounting 150 Amp KPRL3AFD1
2-Pole FD Connector Kit 150 Amp KPRL3AFD2
3-Pole FD Connector Kit 150 Amp KPRL3AFD3

EATON CORPORATION www.eaton.com 7



Renewal Parts Data RP01414001E Panelboard Renewal Parts Supplement

Effective January 2011

PRL 4 Blank Covers

Table 13. Fits Only 24"-Wide Tub

Cover Fills This Height Space Width Part Number
1X Blank Cover 13/8" 17" 6554C01HO1
2X Blank Cover 23/4" 17" 6554C01H02
3X Blank Cover 41/8" 17" 6554C01HO3
4X Blank Cover 51/2" 17" 6554C01H13
5X Blank Cover 67/8" 17" 6554C01H14
6X Blank Cover 81/4" 17" 6554C01HO4
7X Blank Cover 95/8" 17" 6554C01HO5
9X Blank Cover 12 3/8" 17" 6554C01HO6
10X Blank Cover 13 3/4" 17" 6554C01HO7
11X Blank Cover 151/8" 17" 6554C01HO8
12X Blank Cover 16 1/2" 17" 6554C01HO9
13X Blank Cover 177/8" 17" 6554C01H10
15X Blank Cover 20 5/8" 17" 6554C0TH11
20X Blank Cover 271/2" 17" 6554C01H12

Table 14. Fits Only 36"- and 44"-Wide Tubs

Cover Fills This Height Space Width Part Number
1X Blank Cover 13/8" 25" 6554C02H01
2X Blank Cover 23/4" 25" 6554C02H02
3X Blank Cover 41/8" 25" 6554C02H03
4X Blank Cover 51/2" 25" 6554C02H13
5X Blank Cover 67/8" 25" 6554C02H14
6X Blank Cover 81/4" 25" 6554C02H04
7X Blank Cover 95/8" 25" 6554C02H05
9X Blank Cover 12.3/8" 25" 6554C02H06
10X Blank Cover 13 3/4" 25" 6554C02H07
11X Blank Cover 151/8" 25" 6554C02H08
12X Blank Cover 161/2" 25" 6554C02H09
13X Blank Cover 177/8" 25" 6554C02H10
15X Blank Cover 20 5/8" 25" 6554C02H11
20X Blank Cover 271/2" 25" 6554C02H12

8 EATON CORPORATION www.eaton.com



Renewal Parts Data RP01414001E

Effective January 2011

Panelboard Renewal Parts Supplement

Table 15. PRL 4 Connector Kits

Connector Kit Description Additional Information Max Amps Part Number
3-Pole F-Frame Connector Kit Single- and Twin-Mount 225 Amp KPRL4FD
3-Pole J-Frame Connector Kit Single-Mount 250 Amp KPRL4JDS
3-Pole J-Frame Connector Kit Twin-Mount 250 Amp KPRL4JDT
3-Pole K-Frame Connector Kit Single-Mount 400 Amp KPRL4KDS
3-Pole K-Frame Connector Kit Twin-Mount/44"-Wide Box Min. 400 Amp KPRLAKDT
3-Pole L-Frame Connector Kit Single-Mount/36"-Wide Box Min. 600 Amp KPRLALD
3-Pole M-Frame Connector Kit Single-Mount/36"-Wide Box Min. 800 Amp KPRLAMD
3-Pole N-Frame Connector Kit Single-Mount/36"-Wide Box Min. 1200 Amp KPRLAND
Fusible Switch (FDPW) Connector Kit Twin-Mount 60 Amp KPRL44X
Fusible Switch (FDPW) Connector Kit Twin-Mount 100 Amp KPRL45X
Fusible Switch (FDPW) Connector Kit Single-Mount 100 Amp KPRL45XS
Fusible Switch (FDPB) Connector Kit Single-Mount 200 Amp KPRL4B6XS
Fusible Switch (FDPB) Connector Kit Twin-Mount/44"-Wide Box Min. 200 Amp KPRL4BBXT
Fusible Switch (FDPW) Connector Kit Single-Mount 400 Amp KPRL4W9IX
Fusible Switch (FDPW) Connector Kit Single-Mount 600 Amp KPRLAW11X
Fusible Switch (FDPW) Connector Kit Single-Mount/44"-Wide Box Min. 800 Amp KPRL4AW11X
Fusible Switch (FDPW) Connector Kit Single-Mount/44"-Wide Box Min. 1200 Amp KPRL4AW15X

Panelboard Fastrim Clamps and Screw-On Hardware Kits

Table 16. Panelboard Fastrim Clamps and Screw-On Hardware Kits

Description Style Number
Trim Clamps—Used on PRL 1a, 2a, and 3a Fastrims (6 Per Bag). 2011641602
Trim Screws—Used on PRL 1a, 2a, 3a, and 4B Standard Trim (10 Per Bag). 5157C83G06
Chassis Mounting Hardware Bag—PRL 1a, 2a, and 3a Panels. 7499A48G04

2C11641G02

5157C83G06

7499A48G04

EATON CORPORATION www.eaton.com 9




Renewal Parts Data RP01414001E Panelboard Renewal Parts Supplement

Effective January 2011

PRL 4 Panels
Table 19. Left-Hand (Lock Side) Box Flange for Either Surface

Table 17. Door-in-Door Kits for PRL 4 Panels or Flush EZ Trims

Description Catalog Number Description Part Number
BX Box Door-in-Door Kit for 2457 Box DD2457K 24-Inch-High Box Surface or Flush Trim 42C1995H01
BX Box Door-in-Door Kit for 2473 Box DD2473K 36-Inch-High Box Surface or Flush Trim 42C1995H03
BX Box Door-in-Door Kit for 2490 Box DD2490K 42-Inch-High Box Surface or Flush Trim 42C1995H04
BX Box Door-in-Door Kit for 3673 Box DD3673K 48-Inch-High Box Surface or Flush Trim 42C1995H05
BX Box Door-in-Door Kit for 3690 Box DD3690K 60-Inch-High Box Surface or Flush Trim 42C1995H07
BX Box Door-in-Door Kit for 4473 Box DD4473K 72-Inch-High Box Surface or Flush Trim 42C1995H09
BX Box Door-in-Door Kit for 4430 Box DD4490K 90-Inch-High Box Surface or Flush Trim 42C1995H12

Table 20. Right-Hand (Hanger Side) EZ Box Flange for Surface

EZ Box and EZTrim Renewal Parts Mounting Only

Description Part Number

Top Painted 24-Inch-High Box Surface Trim 42€1988G01

Box Flange 36-Inch-High Box Surface Trim 42C1988G03

42-Inch-High Box Surface Trim 4201988G04

48-Inch-High Box Surface Trim 42C1988G05

60-Inch-High Box Surface Trim 42C1988G07

72-Inch-High Box Surface Trim 42€1988G09

Left (Lock Side) Right (Hanger Side) 90-Inch-High Box Surface Trim 42C1988G12

Painted Box Flange Painted Box Flange

4—1 Table 21. Right-Hand (Hanger Side) EZ Box Flange for Flush
Mounting Only

Description Part Number
24-Inch-High Box Flush Trim 42C1987G01
36-Inch-High Box Flush Trim 42C1987G03
42-Inch-High Box Flush Trim 42C1987G04
48-Inch-High Box Flush Trim 4201987G05
60-Inch-High Box Flush Trim 42C1987G07
72-Inch-High Box Flush Trim 42€1987G09

Do e 90-Inch-High Box Flush Trim 421987612

Note: See photo in left column for Tables 18-21.
EZ Box Renewal Parts

For use with Pow-R-Line® 1a, 2a, 3a, and
Pow-R-Command™ Panelboards.

EZ Box Flanges

Table 18. Top- and Bottom-Painted EZ Box Flanges —
20"-Wide Boxes

Description Part Number

Top- or Bottom-Painted Box Flange 42C1993H01
(Top and Bottom Flanges are Symmetrical)

10 EATON CORPORATION www.eaton.com



Panelboard Renewal Parts Supplement Renewal Parts Data RP01414001E

Effective January 2011

Table 22. 1/4-20 Flange Mounting Hex Nut Table 24. EZ Trim Locks (Include One Key)
Description Part Number Description Part Number
1/4-20 Flange Mounting Hex Nut ‘ 70210AL616 EZ Trim Lock Keyed to WEM-2 (Standard) | 1A85194G01

EZ Trim Lock Keyed to GE75 (Optional) 1A85194G03
EZ Trim Lock Keyed to Corbin WEM-1 1A85194G05
(Optional)
EZ Trim Lock Keyed to Corbin TEU 1 1A85194G09
(Optional)

EZ Trim Lock Keyed to CAT 60 (Optional) 1A85194G10

1/4-20 Flange
Mounting
Hex Nut

Hex Nut

Table 23. Anti-Lift Slide Bracket

Description Part Number EZ Trim Lock Mechanism With Standard Keying
EZ Trim Anti-Lift Slide Bracket 1A85195H01

EZ Trim Anti-Lift Slide Bracket

EATON CORPORATION www.eaton.com 1



Renewal Parts Data RP01414001E Panelboard Renewal Parts Supplement

Effective January 2011

Pow-R-Kit

Table 25. Parts Order Form

Description Style Number Max. Order Quantity Order Quantity
One complete Pow-R-Kit—Initial Orders Only Pow-R-Kit 1
Yearly Pow-R-Stock Renewal Fee Renewal 1
PRL 1a, 2a, and 3a Ground Bar 5158C05G02 2
PRL 1a, 2a, and 3a Isolated Ground Bar 2C11296G03 2
PRL 1a, 2a, and 3a Chassis Mounting Hardware 42C1129H02 2
PRL 1a, 2a, and 3a Trim Mounting Screws and Captive Nuts (LT Trims Only) 5157C83G06 4
PRL 1a, 2a, and 3a DF Assembly Screws (1/4-20 x .75 Square Rec.) 70030KBDBR 12
PRL 1a, 2a, and 3a Breaker Mounting Screws (10-32 x .56 Hex Head) 70010RBB8G 50
PRL 1a, 2a, and 3a DF Mounting Screws (10-32 x .38 Hex Head) 70032SBB8D 10
BAB 1-Pole Lock Off (Non-Padlockable) 1256C42G02 10
BAB 2- and 3-Pole Lock Off (Non-Padlockable) 1256C42G01 5
BAB/GHB 1-Pole Fillers 5155C62H01 20
PRL 3a F-Frame 1-Pole Provision Fillers 4178B06HO1 10
Directory Card Envelope 6725D41H30 5
Directory Card 114B361HO1 10
Number Tabs (1-42) 267P963H01 10
Number Tabs (43-84) 267P963H02 10
PRL 4 Chassis Mounting Hardware (Nuts and \Washers) 5081A08G02 8
PRL 4 Gutter Cover Mounting Hardware (Screws and Captive Nuts) 5081A09G02 2
PRL 4/PRLC Dead Front Cover Screws (1/4-20 x .50) 70010DCBCH 12
PRLC Switchboard Cover Screws (1/4-20 x 1.50) 1A84774H01 12
Standard 1a, 2a, and 3a Trim Lock Assembly for LT Style Trim (Not EZ) 5155C81G01 5
Panelboard and Switchboard Series Rating Manual 1C96944H01 Rev. G 5
EZ Box 1/4-20 Hex Flange Mounting Nut 70210AL616 20
EZ Trim Anti-Lift Slide Bracket 1A85195H01 2
EZ Trim Anti-Lift Slide Bracket 10-32 Screw 70010RBBB8P 5
EZ Trim Lock Keypad to WEM-2 (Standard Lock) 1A85194G01 5

Note: An order must consist of at least three separate items.
Note: All orders must have your purchase order number.
Fax completed form to your local Satellite Plant (See Page 13 for Satellite Plant fax numbers).

Purchase Order Number:
Ship to:

Attention:

Date:

12 EATON CORPORATION www.eaton.com





